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Note . part-A and Past-B.

)

i) Part-A
(3).

i) In Part-A of the question paper, there are multipl

s P wo part
Mhe question paper is Jdivided into two p

\ et — 2
and Part-B are divided into three Sub-Sections (1), ( } ang

e choice questions in

W i(:h. SCICCI, thc COr IC’CI: alternatlue and t.hen b}‘ a 1].
en f m t the 1 3 AT et DO
pOi‘nt pen, lll CO ple ely in Clr{:le n OMR AIIS er She n{:‘t -

1
erase, cut or use whitener on the OMR Answer Sheet after answering,

iv) 1 mark is allotted for each question in the multiple choice question of

Part-A.
v)  Part-B has descriptive questions.
vi) The allotted marks are given in each question.
vii) All the questions of Sub-Sections of Part-B are to be attempted all at ¢

time. Start each Sub-Section from a new page.

viii) All the questions are compulsory.
Tug - A
PART - A

( TEfarmedta w9 )

( Multiple Choice Type Que;stions )
IYHTT - (1)
Sub-Section - (1)
1. frd o%g #1 Fode OO R S WidE SN, W UE e ¥ 9%’
ST €1 T i Rafa et g =@y ?
(A) T BihY Ul TEhll ek oh s
(B) Tkl 5 W
(C) Fohell s § W
(D) 3UOT % YT TN [H B &
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L. Fhe image of an object formed by a concave mirror ! ted ?

itua

and larger than object. Where should the object be sit
(A Between principal focus and centre of curvature

(B) On the centre of Curvature
(C) Away from the centre of curvature :

(D) Between the pole of mirror and principal focus
2. FFU TSI A O SR st ay qod www o frer § @ A A
HIT ?
(A) 50 T BIHT T H vw 3w i
(B) 50 T FHT T #1 v sreer e
(€ ST BT T 0 37w g

(D) 5 ¥ BFT T F7 o5 syEer S 1
2. Which type of lens would you like to read small letters found in a
dictionary ?

(A} A convex lens of focal length 50 ¢cm
(B) A concave lens of focal length 50 cm

(C} A convex lens of focal length 5 cm

(D) A concave lens of focal length 5 cm 1
3. %ﬁﬁ?ﬂuﬁwm%ﬁﬂaﬁmﬁﬂuéﬂqﬁaﬁmiﬁﬁm-w@ﬁ%
FUUT J O EEE: §
(A) T e (B) T I
(C) UV I TN WG IAA - (D) TUOT I N O A 1
3. The focal lengths of a spherical mirror and = thin spherical lens are

—15 em each. The mirror and lens are possibly

{A) both concave
(B) both convex
(C) mirror concave and lens convex

(D) mirror convex and lens concave 1

01000/26 [ Turn over



l . r ,"I f,'
s a7
-feried :Joifi a:r
&l ﬁf'ﬁ

824(EJ)
S fed) A Tl
4 e 3 & A um W iy A
] | 7z ‘
(A) wifa1 (D) :;frz s formed, 1.

(C) o . which the imag¢
4. The part of human ¢€Y¢, ¢ o s |

(A) Cornea D Retins | o }

(C) Pupil ) o o TEA Fln
5. 3 e ar fAe e, s adl L i -

F ok Ry odwn § g fed A AT "

FEAS F1 3T 41 g 2

A) 1:2 B) 2: : |

4 :

oo con - i are joined

5. Two conducting wires of same material, length and diameter thj t.
: ' i ratio

in series in an electric circuit and then in parallel. What will be the

of heats generated in series and in parallel combination ?

(A) 1:2 (B) 21

C) 1:4 D) 4:1 1
6. oY IR9Y % wHg uRuy § faega uwr &1 A9

(A) g FH & A § (B) uRafdd =& &rn &

(C) T S =g T & (D) FrR ofcafém g !
6. The value of electric current in a circuit at the time of short circuit

(A) Dbecomes very low (B)  does not change

(C) increases very large (D) changes continuously ]

7. o[ 4 I F F g B Fea
() S (B) TR

(0 WX (D) HeX |
7. The arrangement to produce the electric current 1s called

(A)  Generator (B)  Galvanometer

(C) Ammeter | (D)  Motor 1
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Sub-Section - (2)

g U R
(A) H1q (B) 3YTq]
(C) 39 (D) Faw ug
8. Antimony is
(A) metal (B) non-metal
(C) metalloid (D) alloy
9. AT AR F TAEE g
(A) PbNO, (B) Pb(NO,),
(C) Pb(NQy), _ (D) PbO
9. Chemical formula of lead nitrate is -
(A) PbNO, (B) Pb(NO,),
(C) Pb(NO,), (D) PbO
10. Fmfafea & ¥ srdge segwEe &
(A) CyHg - (B) C,H,
(C) CH, (D) C,H,
10. An unsaturated hydrocarbon in the following is
(A} CyHg B) C,H,
(C) CH, (D) CsHg
11, ¥ o frdrers e @
(A) — CHO B) >C=0
(C) — OH (D) — COOH
11. The functional group in propanal is
(A) — CHO B >C=0
(C) — OH (D) — COOH
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12.

12.

13.

13.

14.

14.

15.

15.

TR 3 1 aMogothonodto 7 3

(A) - THifew amq (B) UEHEH A
(C) HETH ang (D) WOAIEEH 3T
IUPAC name of acetic acid js

(A)  acetic acid (B) ethanoic acid
(C)  methanoic acig | (D) propanoic acid
O T F TERES B g ML, ¥1 56 e B §

(A) MO, | B) MO

(C) M,0, (D) M0

Formula of chloride of an element is MCL, . Formula of its oxide is

(A) MO, ® MO
© M,0, o M0
JTUT - (3)
Sub-Section - (3}
IFHT HT HA AT &
(A} =T (B) WA
(C) Iews . (D) e

Function of kidneys is
(A) Respiration
(C) Excretion

(B) Reproduciinn
(D) Digestion

vt TR spferelt e Eh & |

(A) R A B) HeH

(C) FHIHEH q (D) TIH W
leaf develop in

BUdS;[?n: (B}  Potato

A) (D)  All of these

(C) Bryoph}’uum



3Teityres fae & 9 €

(A) TH. . R (B) oW BifaA
(€C) WK = AUSH (D} 9. . FEEH
5, Father of Genetics is
(A) H.J. Maller (B) Charles Darwin
(C) Gregor Johann Mendel (D) J.D. Watson
7. X DNA =] 399 o 52 o &
(A) YRS S N (B) WE-FAN 5 g
(C) TOIHIHISH =4 g (D) eEIEH S ERI
7.  Two strands of DNA are connected by
(A) Peptide bonds (B) Covalent bonds
(C) Glycosidic bonds (D) Hydrogen bonds
8. THEH TR YT &1 &
(A) TRgH B) FHgsmH
) Foorazr® (D) g H
18. Reproduction by means of budding occurs in
(A} Hydra (B) Earthworm
(C) Cockroach (D) Pigeon
19.  Tued 1 AT
(A) HEI TR (B) U™ WX
(C) TIH (D) TS&A
19.  Experimental plant of Mendel was
(A) Sweet peca (B) Garden pea
(C) Mustard (D) Hibiscus
01000/26
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A sizrm B) THRE
: l
©) vt (D)  fewate
tive system
20. Which one of the following is not a part of female reproduct! a
humansg ?
(A)  Ovary (B) Uterus
(C)  Vas deferens (D) Oviduct
=g -
PART - B
( AUTE WA )
( Descriptive Questions )
SUHET - (1)

Sub-Section - (1)
1. %mm@mmmmﬁmmaﬁuﬁﬁwaﬁﬁnﬁwwﬁ%ﬁa&:
! 2+
(@) TRl % AR FFT F T
(b) YT AR BlFg F o)

1. Using ray diagram, write the position and nature of the image formed by
a concave mirror :

2 +2
(a)  Between centre of curvature and focus
(b)  Between pole and focus.
2, S-OWWHﬁaﬁéaﬁsoﬂtﬁmﬁm%ﬁ?@rﬁm%wﬁggm@
qr@%nﬂﬁlﬂ%&wﬁ%ﬁ.mﬁmwmaﬁﬁq; 4

2, An object of length 5-0 cm is placed in front of a mirr

or of radius of
curvature 30 cm at a distance of 20 em. Determ

ine the Position, naturc
and size of the image. :

4
01000/26



fyara] d1d Eais il ' ted in a resistance of 4 Q. Calculate
3. The heat of 100 J per 5¢¢ gene” nds of the resistance. 4
the potential difference betweerl the € N ey e A
4, Wﬁﬁm@@wwwﬁﬁﬁﬁ@ Cpenal
i o€l B T FE E 2 |
At
Wﬂawmwmm@ﬁqlwmmﬂﬁﬁmaﬁijilfﬁ
' i ? R
4. jzljif‘tfeﬁi:{mﬁiciple and working of an electri-c: g.er;eratof
by drawing labelled diagram. What is the function of brushes In it :
https:;’fwww.upboardonline.com 1+2+2+1
OR
Draw a labelled diagram of an electric motor. Explain clearly its principle
and working. What is the importance of split rings in electric motor ?
1+2+2+1
AU - (2)
Sub-Section - (2)
5. fetatas dfieet & e 9 e . 1+1+1+1
(a) T |
(b)  SOTEA
(¢ I=AR-3
() HEAA-2 |
5.  Write down the structural formulae of the following compounds :
1+1+1+1.
(a) Methanal
(b)  Propyne
(c)  Pentanone-3
(d)  Butanone-2.
o0rze [ Turn over
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O T TS i s o Pt
12, 17, 18, 20
@ =y am
: : [
o Wwﬁwﬁaﬁwﬁmwaﬁémaﬂ@
Atomic Numbers of some elements are given below :
12, 17, 18, 20
Write the

2+

(a) Names of the elements o
(b} Gmup number and Periodic number of the elements 11 the periodic
table, : 2+2

7. ﬁﬂ%@aﬂﬁmﬁﬁmﬁméﬁamuﬁw%ﬁiv

1+1+1+1+1+]
(a) T Tk + A FoikmEs —» AT T + oo -

(b) TR HHEE T, w4 ‘
(© T + ToRRE ot - e T + o

(d) IRT + FR TS > ... + R
() o Fete =L HTHEE + v,
) e+ oo e - FE AT 4
AT
Fr=fafed w feooh fafa 2+2+2

(a) eI i g At
(b) e M s s
(c)  ETFISTHIHIOT

7. Complete and balance the following equations : 1+1+1+1+1+1
(@)  Sodium sulphate + Barium chloride —» Barium sulphate + ..........
(b)' Mercuric oxide —H2& Mercury + ..............

(¢} Zinc + Sulphuric acid - Zinc sulphate + .............

(d)  Iron + Copper sulphate — .............. + Copper

01000/26
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(¢}  Calcium carbonate Dm_.‘],.::::;:)gilio; Caleium oxide +
()  Zinc + Silver nitrate — Zinc nitrate * ...
OR

Write short notes on the following : 2+2+2

(@) Combustion reaction of Hydrocarbon

(b)  Substitution reaction in organic compounds

(¢}  Hydrogenation.

| ST - (3)
Sub-Section - (3)

8. f(a) I TEn R W § W F siw fotfan e

(b) e T R T Y @ e Rt 7+3

(c) wIfaw w fFl wed ¥ 1

d TWEFHEFEE? 1
8. (@) Write any two differences between aerobic and anaerobic

- respiration. 1+3

(b) Writg any fwo differences between lymph am; blood. 3+ %

()  What is vegetative reproduction ? 1

(d} What is the function of heart ? 1
SRR R LR R e S S —

feffa 1+1+1+1
9,

What is chemosynthesis ? Write the names of any three bacteria and

their functions taking part in it. 1+1+1+1
™

10, UTEeh U & T B ¥ )

4
10. What are the functions of digestive enzymes ? 4

01000/26
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11.

11.

12

SrAfeafiga =t WET § TRy ¢
(a) gfaaR
(b) HEAR

94T
gt 3 PR B et o 1 v i
Briefly explain the following : |
(@) Darwinism
(b} Lamarckism.
OR

Describe the post-fertilization changes in a flower.

824(EJ) - 4,90,000
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